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Sr Questions Answers Choice

1 First discovered antibiotic
A. Lovastatin
B. Cyclosporine
C. Penicillin
D. Ergotine

2 Which is used to give flavor, aroma and characteristic colour to the cheese.
A. Penicillium
B. Yeast
C. Aspergillus
D. Neurospora

3 Reindeer moss is a
A. Fungus
B. Lichen
C. Moss
D. Mold

4 Loose smut of wheat is caused by the following fungi
A. Puccinia
B. Penicillium
C. Ustilago
D. Aspergillus

5 Yeasts are unicellular
A. Protozoans
B. Algae
C. Fungi
D. Bacteria

6 Rhizopus belongs to class.
A. Deuteromycetes
B. Basidiomycetes
C. Zygomycotic
D. Ascorny cetes

7 Rhizopus belong to the phylum.
A. Ascomycota
B. Basidiomycota
C. Zygomycota
D. Deuteromycota

8 Brush like arrangement of its conidia characteristic of.
A. Rhyisopues
B. Penicillium
C. Ustilago
D. Agrees

9 Alternaria is an example of.
A. Zygomycota
B. Ascomycota
C. Basidomycota
D. Deuteromy cota

10 Members of Basidiomycota are commonly called.
A. splitting fungi
B. Moreis
C. Mushrooms
D. Molds

11 ________ is the largest group of fungi.
A. Basidiomycota
B. Ascomycota
C. Zygomycota
D. Deuteromycota

12 Each ascus comprise ascospores.
A. 04
B. 08
C. 12
D. 03

13 The most common rust fungi are.
A. Ustilago
B. Puccinia
C. Penicillium
D. Yeast

14 The most common fungi are.

A. Ustilago

B. Mosses
C. Anglo sperms
D. Gymnosperm

15 All fungal nuclei are haploid except for transient diploid.
A. spores
B. Zygota
C. Conidia
D. Zygospores



16 The group of fungi in which sexual reproduction has not been observed.
A. Ascomycota
B. Deuteromycota
C. Basidiomycota
D. Zygomycota

17 Sexual reproduction is absent in
A. Deuteromycota
B. Ascomycota
C. Basidiomycota
D. Zygomycota


